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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–IV • EXAMINATION – SUMMER • 2015 

Subject Code: 341904 Date: 15-05-2015 
Subject Name: Theory of Machine 
Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) What is kinematic pair? Classify various types of kinematic pairs. Explain 
them with neat sketches. 

07 

 (b) Sketch and explain the crank and slotted lever type quick return mechanism. 07 
    

Q.2 (a) Draw a cam profile to raise a knife edge follower with simple harmonic 
motion through 30 mm in 1200 of a revolution, keep it fully raised through 300 

revolution and to lower it with uniform velocity in 600 revolution. The axis of 
follower passes through the axis of cam shaft which rotates anticlockwise with 
100 rpm. The base circle diameter is 50 mm. 

07 

 (b) The crank and connecting rod of a steam engine are 150 mm and 600 mm 
long 
respectively, the crank makes 300 rpm in clockwise direction when crank has 
turned 300 from the IDC. Using relative velocity method, find (1) Velocity of 
piston (2) acceleration of piston. Show your calculation 

07 

  OR  
 (b) Solve the above problem using Klein’s construction. 07 
    Q.3 (a) Describe with diagrams-(1) Open belt drive. (2) Crossed belt drive. (3) 

Compound belt drive. 
03 

 (b) What is slip in the belt drive? Explain the effect of slip on velocity ratio and 
power transmission by belt. 

04 

 (c) Explain the working of single plate disc clutch with neat sketch. 07 
  OR  

Q.3 (a) A flat belt drives a pulley with an angle of lap 1200 . The belt has a cross-
section of 100mm x 6mm and the density of belt material is 1000kg/m3 . The 
belt pulley co-efficient of friction is 0.3 and the maximum permissible stress 
in the belt is 1.96 N/mm2 . Find the greatest power which the belt can transmit 
and the belt speed at which it is transmitted. 

07 

 (b) Explain the principle, working and use of rope brake dynamometer with a 
sketch. Derive the expression for brake power.  

07 

    Q.4 (a) Draw the turning moment diagram for 1. Steam Engine 2. I.C. Engine. 04 
 (b) Derive the expression of frictional torque for a flat collar bearing with usual  

notations assuming uniform pressure conditions. 
05 

 (c) Find the force required to be applied at the end of 500mm long lever of a 
screw jack. The threads are single start square with 12mm pitch and 65mm 
mean diameter. The load does not rotate with screw spindle. The C.O.F. for 
threads is 0.15 and for collar it is 0.12 which is having 40mm mean radius. 
Also find the efficiency of the screw jack if the load to be lifted is 8 KN. 

05 

  OR  
Q. 4 (a) Why balancing of rotating and reciprocating parts of the engine is 

necessary? 
04 
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 (b) A thrust shaft of a ship has 6 flat collars each of 500 mm external diameter 
and 250 mm internal diameter. The total thrust from the propeller is 90 KN. If the 
co-efficient friction is 0.12 and the speed of the engine is 120 
rpm. Find the power absorbed in friction assuming  Uniform pressure. 

05 

 (c) A band and block brake having 12 blocks, each subtending an angle of 160  at 
the centre, is applied to rotating drum of 0.8 m diameter. The two ends of 
band are attached to pins an opposite sides of the brake lever at distance of 30 
mm and 120 mm from the fulcrum. Determine the least force required to be 
applied at the end of a lever 1.2 m long for the brake to absorb 60 kw at 300 
rpm. Assume μ=0.25. 

05 

    Q.5 (a) State the different types of governors. Explain Hartnell governor with sketch 07 
 (b) Define in short free vibration, force vibration and damped vibration. 07 
  OR  

Q.5 (a) Explain the term “fluctuation of Energy” and “fluctuation of speed” as applied 
to the flywheel. 

07 

 (b) Two weight of 8 kg and 16 kg rotates in same plane at radii of 1.5 m and 2.25 
m respectively. The radii of this weight are 60̊ apart. Find the position of the 
third weight of the magnitude of 12 kg in the same plane which produce 
complete balance of the system. 

07 

 
************ 



3/4 

�જુરાતી 

પ�. ૧ અ કાઈનેમે�ટક પેર એટલે �ુ ં િવિવધ પ્રકારની કાઈનમે�ટક પેર�ું વ�ગ�કરણ ક. �રુ�ખ  

આ�િત દ્વારા તેમને  સમ�. 
૦૭ 

 બ ક્ર�ક અને સ્લોટ�ડ લીવર પ્રકારની �ક્વક ર�ટનર્ઝમને આ�િત દોર� સમ�વો. ૦૭ 

    
પ�. ૨ અ નાઈફ એઝ ફોલોવર માટ� ક�મ પ્રોફાઈલ દોરો ક� � િસમ્પલ હારમોિનક મ 

થી ક�મના  ૧૨00  રોટ�શન દરમ્યાન૩૦ મીમી �ચકાય છે તથા ૩00 રોટ�શન 

દરમ્યા �ચકાયેલ રહ� છે. ત્યારબાદ૬00  રોટશન દરમ્યા �િુનફોમર્ 

વેલોસીટ�થી નીચે આવે છે. ફોલોવર અક્ષ ક�મ શાફ્ટની અક્ષમાંથી પસા 

છે તથા ૧૦૦ rpm. થી ઘ�ડયાળ ના ંકાટંાની િવ�ુધ્ધ �દશામાં ફર� છ.બેઝ સકર્લ 

નો વ્યાસ૫૦ મીમી છે 

૦૭ 

 બ એક સ્ટ�મ એન્�નનાં ક્ર�ક અને કને�ક્ટગ રોડ ની લંબાઇ અ�૧૫૦ મીમી 

અને ૬૦૦ મીમી છે. ક્ર�ક ઘ�ડયાળ નાં કાંટાની �દશામા૩૦૦ rpm. થી ફર�  

છે,તથા IDC થી ૩00 ફર�લ છે.�રલેટ�વ વેલોસીટ� મેથડ નો ઉપયોગ કર�ને 

િપસ્ટનનો વેગ તથા પ્રવેગ શ.તમાર�  ગણતર� દશાર્વ.  

૦૭ 

  અથવા  

 બ ઉપર નો દાખલો કલીન કંસ્ટ્રકશનનો ઉપયોગ કર�ને  ૦૭ 

    
પ�. ૩ અ ડાયાગ્રામ દોર�  સમ� 

(1) ઓપન બેલ્ટ ડ્રા(2) ક્રોસ બેલ્ટ ડ 

(3) કંપાઉન્ડ બેલ્ટ ડ્ 

૦૩   

 બ બેલ્ટ ડ્રાઇવમાં સ્લીપ એટલે? વેગ �ણુો�ર અને બેલ્ટ દ્વારા થતા પ 

 ટ્રાન્સિમસન �સ્લપની અસર સ.  

૦૪  

 ક  િસ�ગલ પ્લેટ �ડસ્ક કલચ�ું કાયર્ સ્વચ્છ આ�િત દ્વાર. ૦૭  
  અથવા  

પ�. ૩ અ એક ફલેટ બેલ્ ડ્રાઇવમ �લુીનો �ગલ ઓફ લેપ ૧૨૦0 છે. બેલ્ટનો 

આડછેદ ૧૦૦મીમી x ૬મીમી અને બેલ્ના મટ�ર�યલની ઘનતા ૧૦૦૦ 

=�કલોગ્ર/મીટર૩
 છે. બેલ્ અને �લુી વચ્ચેનો ઘષૅણાકં૦.૩ અને મહતમ 

પરમીશીબલ સ ટ્્ર�સ બેલ્ ૧ .૯૬ ન્�ુટન/મીમી૨ છે. તો બેલ્ટ દ્વારા ટ્રાન 

થતો મહતમ પાવર અને તેના માટ�ની સ્પીડ શોધ. 

૦૭ 

 બ રોપબ્રેક ડાયનેમોમીટરનો િસધ્ધ, કાયર્  અને ઉપયોગ આ�િત દ્વારા સમ. 

બ્રેકપાવર�ું  �ૂત્ર  મ. 
૦૭ 

    
પ�. ૪ અ ટન�ગ મોમેન્ટ ડાયાગ્રામ દ. 

૧. સ્ટ�મ એન્�૨. આઈ.સી. એન્� 

૦૪ 

 બ ફલેટ કોલર બેર�ગ માટ�ના ઘષૅણ ટોકર્�ું �ૂત્ર હંમેશા વપ  રાતી પ્રચ�લત 

સગં્નાઓ લઈ મેળવ. આ માટ�  એકધારા દબાણની �સ્થિત લ. 

૦૫   
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 ક  એક સ્� �કના૫૦૦મીમી લાબંા  લીવરના છેડ� લગાડ�ુ ંપડ� ુ ંબળ શોધો. 

સ્�  માટ� વપરાતા સ�ગલ સ્ટાટર્ ચો રસ �ટાની પ૧૨મીમી તથા સર�રાશ 

વ્યાસ ૬૫મીમી છે. ભાર સ્�ના �સ્પ�ડલ સાથે ફરતો ન. નટ અને સ્�ન 

ઘષૅણાકં ૦.૧૫ અને કોલર ક� �ની સર�રાશ િત્ર�ય૪૦મીમી છે તેનો ઘષૅણાકં 

૦.૧૨ છે તો ૮ �કલો ન્� ટ્ન  ભાર �ચકતા સ્�ની કકમતા શોધો. 

૦૫  

  અથવા  

પ�. ૪ અ શા માટ�  એન્�ના ફરતા અને ર� િસપ્રોક�ટ થતા ભાગો�ુ બેલ�િસગ કર�ુ ંજ�ુર�  

છે? 

૦૪  

 બ એક વહાણના થ્રસ્ટ શાફ્ટ પર છ ફ્લેટ કોલસર્ આ. �નો બહારનો વ્યાસ 

500 mm અને �દરનો વ્યાસ250 mm છે. પ્રોપેલર દ્વારા 90 થ્ર લાગે છે. 

જો ઘષર્ણનો �ુંણાક0.12 હોય અને એન્�ની ગિત 120 �ટા/ િમિનટ હોય તો 

ઘષર્ણમાં શોષાતી શ�કત �ુિનફોમર્ પ્રેશરની ર�તે .  

૦૫  

 ક  ૧૨ બ્લોક ધરાવતી એક બેન્ડ અને બ્લોક બ્રેક  ક� �નો દર�ક બ્લોક ક�

૧૬૦નો � ૂણો બનાવે છે, તેને ૦.૮ મીટર વ્યાસ ધરાવતા ડ્રમને લગાડવામ

આવી છે. બ્રેક લીવરની ફલક્ર૩૦ મીમી અને ૧૨૦મીમી ના �તર� 

સામસામેની બા�ુએ  બેન્ડના છેડાઓને પીન સાથે જોડવામાં  આવે 

છે. તો ૧ .૨ મીટર લાબંા લીવરના છેડ�  ૩૦૦ આર.પી.એમ અને ૬૦ 

�કલોવોટ એબ્સોબર્ કરવા માટ�  લગાડ�ું પડ�ું બળ શો . μ =0.25 

૦૫  

    
પ�. ૫ અ �ુદા �ુદા ગવનર્રના નામ આપો અને હાટર્નેલ ગવનરઆ�િત દ્વારા સમ�. ૦૭ 

 બ ફ્ર� વાઇબ્, ફોસર્ વાઇબ્ર, અને ડ�મ્પ વાઇબ્રેશન �ૂંકમસમ�વો. ૦૭ 
  અથવા  

પ�. ૫ અ ફ્લાયવીલ ના સંદભર્માં ફ્�કુ્�ુએશન ઓફ એનજ� અને ફ્�ુક્�ુએશ

સ્પીડ પદસમ�વો. 

૦૭ 

 બ 8 Kg અને 16 Kg ના બે વજન એકજ પ્લેનમા અ�ુક્ર 1.5 m અને 2.25 m 

ની િત્ર�યા થી ફર� . આ વજન એકબી�થી 60̊ ના � ૂણ છે આ સમતલમા ં 

ત્ર 12 Kg વજન ની પોઝીશન શોધો �થી િસસ્ટમ સં�ુણર્પણે કાયર  ્

સમ�લુામા ંરહ�.  

૦૭ 
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